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2010年7月高等教育自学考试全国统一命题考试

外刊经贸知识选读试题

课程代码：00096
一、单项选择题(本大题共15小题，每小题2分，共30分)

在每小题列出的四个备选项中只有一个可以替代句中划线的单词或词组，请将其代码填写在题后的括
1.Theoriginalbanonprivatetradinghadlongsincebeengiven up.()
A.waved

B.waited
C.waived

D.wanted

2.Goodsareproducedaccordingtosampleprovidedbythecustomer.()
A.Procedures

B.Products[[微信公众号：ikaoti]
C.Potentials

D.Proposals

3.ChinaisreapingtherewardsofreformsfirstlaunchedbyDengXiaopingin1979.()
A.obtaining

B.bouncing
C.radiating

D.raising

4.Manycountriesintheregionwereadverselyaffectedbydeclinesinworkers’remittancesandtourismrevenues.()
A.stagnated

B.slackened
C.compounded

D.impacted

5.Themuseumstoredallfrangiblearticlesinalockedshowcas

E.()[[微信公众号：ikaoti]
A.breakable

B.payable
C.considerable

D.amenable

6.TheUSaskstheWorldTradeOrganizationtolimittradesanctionsto$1bninsteadofthe$4bnsanctionstheEUwantstoimpos

E.()
A.penalties

B.confrontations

C.frictions

D.consequences

7.Theworld’ssecondlargesteconomy,Japan,hasbeenlanguishingfornearlyadecade,aftertheboomoftheearly1980scollapse

D.()
A.active

B.robust
C.inactive

D.encouraging

8.ExportsofJapanesemachinerywithstoodthedownturnquitewellbecausetheAsianeconomiesthatbuythemcontinuedtoboom.()
A.disputed[[微信公众号：ikaoti]
B.provoked
C.reckoned[[微信公众号：ikaoti]
D.resisted

9.Emailscriptsintrudeonacomputerwithoutone’sknowledg

E.()
A.trespass

B.eliminate
C.detract[[微信公众号：ikaoti]
D.proceed

10.Dubaiismakingprogressinitseffortstopromoteinternationalawarenessofitsattractions.
()[本科目答案页面导航：http://zk.ikaoti.cn/zikao.htm]
A.accommodation

B.consciousness

C.coincidence

D.legitimacy

11.SecurityCouncilmembersconfirmsupportforAfricaneffortstosettleconflictbetweenEthiopiaandEritrea.()
A.spread

B.spoil
C.stop

D.spill

12.Smokingisstrictlyprohibitedintheprocessofhandlingexplosivematerials.()
A.flourished

B.endured
C.subsidized

D.forbidden

13.Bigcompaniesunderstandtheimportanceofbrands.()
A.executives

B.experiments
C.franchises

D.trademarks

14.Thatmarketaloneaccounted forhalfofthevolumeand40percentofthevalueofthetotalU.S.exportsofshelleggsforfoodus

E.()[最新年份咨询qq593777558]
A.addedto[[微信公众号：ikaoti]
B.sharedwith
C.amountedto

D.connectedwith

15.Internationalnot-for-profittradeassociationwith50corporatemembersresidedin20countrieswhoproduce95percentoftheworldsupplyofsyntheticrubber.()
A.productive

B.artificial
C.tropical

D.artistic
二、将下列词组译成中文（本大题共10小题，每小题1分，共10分）
16.marketshare

17.rawmaterial

18.capitalmarket

19.foreign-exchangereserves

20.bilateralpacts

21.intellectualproperty

22.freetrade

23.(OPEC)

24.hardcurrency

25.consumergoods

三、将下列词组译成英文（本大题共10小题，每小题1分，共10分）
26.战略性储备

27.服务贸易

28.供应过剩

29.清算协议

30.利息付款

31.特别提款权

32.证券投资

33.生产力

34.合资企业

35.技术转让

四、简答题（本大题共6小题，共18分）
Passage1

In1991,forthesecondyearin a row,theeconomiesoflow-incomeandmiddle-incomecountriesvirtuallystagnated,asmeasuredbyanincreaseinpercapitagrossdomesticproduct(GDP).Aggregateoutputfordevelopingcountriesadvancedbyslightlylessthan2percentduring1991(similartotheweakperformanceof1990),implyinganeasinginpercapitaincomeof0.1percent.

Aggregatestatisticsfor1991wereinfluencedbythesharpdeclineinoutputinCentralandEasternEurope,aswellasbytheadverseeffectsoftheGulfcrisisonseveraleconomiesintheMiddleEast.ExcludingCentralandEasternEurope,growthindevelopingcountriesin1991was3.4percent,comparedwith3.8percentduringthe1980s.EstimatesofGDPgrowthbymajorgeographicregionshowanaccelerationinLatinAmericaandinsub-SaharanAfrica;anincreaseinChina’sgrowthratehelpedtosustainhighratesofgrowthintheEastAsiaregion.

36.Whatdo“inarow”,“stagnate”and“aggregate”meaninthefirstparagraph?

37.WhatkindofinfluencedidtheGulfcrisishaveontheMiddleEasteconomy?

38.Whatdoesthereportmeantoemphasizeusingtheword“geographic”?

Passage2

SomeoftheClintonadministration’stoughtalkappearstactical,intendedtopressuretradingpartnersintoofferingconcessionandtounblockstallednegotiationsonseveralfronts.Butitappearsthatofficialsarepreparedtoturnupthetemperatureontrade—andlivewiththeconsequences.

Insomeways,Mr.Clintonandhisadvisersarefollowingthesamewell-trodpathastheBushadministration,whichthreatenedsanctionsagainsttheCommunitylastyearandwalkedawayfromGATTnegotiationsratherthansignanagreementthatwouldprovideonlysmallgainsforU.S.companies.ThesamepoliticalpressuresfromtradehawksinCongressthattheBushofficialsfeltarenowbearingdownontheClintonteam.

39.“SomeoftheClintonadministration’stoughtalk”isdescribedasbeing“tactical”inthetext.Whatistheimplicationoftacticalinthegivencontext?

40.WhatdidtheClintonadministrationhaveincommonwiththeBushadministrationintheirattitudetowardtheEU?

41.WhydidAmericarefusetosignaGATTagreementasmentionedinthesecondpassage?

五、正误判断题（本大题共10小题，每小题2分，共20分）
Passage1

JohnT.Chambers,ChiefExecutiveofCiscoSystems,talksaboutthemergerofCiscowithalargercompany:

Amergerofequalshadalotofappeal.IfyoucombinetheNumber1andNumber2playersinanindustry,bydefinitionyou’reNumber1intermsofsiz

E.Bycombiningtwocompanieswithgoodmanagementteams,youautomaticallybuildupthestrengthofyourmanagement.Youcanalsowidenyourcustomerbaseandhavemoredistributionchannels.

Inaddition,themergerautomaticallymakesyourremainingcompetitionsecondlevel.Asaresult,yourcompetitionmustrethinkitsstrategy.Intheend,youforceaperiodofmergersandacquisitionsonyourcompetition.

Whenwelookedmoreclosely,ourconcernswereraise

D.Forexample,50percentoflarge-scalemergersfail.Mergerscanfailonanumberoflevels.Theycanfailintermsoftheirbenefittotheshareholders,customers,employeesandbusinesspartners.Adecisionhastoberightwitheachofthosegroups,orwewouldnotgoforwardwithit.

Ifyoumergetwocompaniesthataregrowingat80percentrates,youstandaverygoodchanceofstoppingbothofthem.That’safact.Foraperiodoftime,nomatterhowsmoothlytheyoperate,youlosemomentum.

Ourindustryisnotlikethebankingindustry,whereyouareacquiringbranchbanksandcustomers.Inourindustry,youareacquiringpeopl

E.Andifyoudon’tkeepthosepeople,youhavemadeaterrible,terribleinvestment.Wepaybetween$500,000and$2millionperpersoninanacqusition.Soyoucanunderstandthatifyoudon’tkeepthepeople,you’vedoneatremendousdisservicetoyourshareholders.Sowefocusfirstonthepeopleandhowweincorporatethemintoourcompany,andthenwefocusonhowtodrivethebusiness.[本科目答案页面导航：http://zk.ikaoti.cn/zikao.htm]
42.Thepassagetalksaboutthebenefitsandproblemsafteramergerofcompanies.()
43.Theword“competition”inthispassagemeans“rivals”.()
44.Inordertocompetewithothercompanies,Ciscoisforcedtogointothenextroundofmergers.()
45.Thereasonwhy50percentoflarge-scalemergersfailisjustthatthecompaniesdonotlettheirshareholders,customers,employeesandbusinesspartnersmakedecisions.()
46.WhenCiscoSystemsbuysanothercompany,itsprimaryfocusisonitscustomers.()
Passage2

Intheeyesofeconomists,economicgrowthisaphenomenonaboutpopulation.First,theaccumulationofcapitalneededtosupportgrowthcomesfromcitizens’savingtendencies.Alabor-intensiveeconomyhasmoredepositcapacitythananageingsociety.Secondly,economicgrowthreliesonthegrowthoflaborforces,especiallyyounglaborers.Sustainedgrowthalsodependsoneducationstandards.

InChina,laborforcesaremainlyoutsourcedfromruralareas.Inthepast25years,some160millionrurallaborershavequittraditionalfarmingandfoundemploymentincitiesornon-farmingsectors.

Althoughagriculturestillemploysmorethan60percentofChina’spopulation,itsshareinthecountry’sfinancialrevenuehasdeclinedtolessthan15percent,droppingfrom40percentorsoinlate1970s.ThisalsoshowsthatChina’sgrowthismainlybasedonanindustrializationcoursefeaturingexpansionofthemanufacturingsector.

ContinuoussupplyoflaborforceshasimprovedChina’sprivatesavingcapabilitysubstantially,whichmeanssurplusincomethatcanbereinvestedtofueleconomicgrowth.

TheimportanceoflaborsupplyinChina’sgrowthdynamicsmeansitisnecessarytoreviewthewayChina’spopulationincreases.[[微信公众号：ikaoti]
Afteryearsofdecline,China’sbirthrateisnowequivalenttothatofotheremergingEastAsianeconomies.Thelowbirthrateinthecountryismainlyaresultofthefamilyplanningpolicyinitiatedinthelate1970s.

SomescholarshaveestimatedChinawillseezerogrowthinyounglaborersin2015.Somehavealsoprojectedthatby2030,20percentofChina’spopulationwillbeover60-years-old,comparedto8percentnow,andthenumberofpensionerswillbemorethan40percentofthenumberofworkingpeopl

E.
47.ThispassagemainlytalksabouttheimportanceoflaborsupplyinChina’seconomicgrowth.
()
48.ThetwofactorsthatwilllimitChina’sfuturegrowtharetheindustrializationprocessandtheslowdowninlaborsupply.()
49.China’sproductivitymainlyresultedfromthetransferoflaborforcestofarmingsectors.
()
50.OnemajorcharacteristicofChina’sindustrializationisthedevelopmentofmanufacturingbusiness.()
51.ThecontributionofagriculturetoChina’sfinancialrevenuehasremainedquitestableoverthepastthreedecades.()[本科目答案页面导航：http://zk.ikaoti.cn/zikao.htm]
六、翻译题（本大题12分）
52.InterestinimportsfromChinaishigh.TheChineseconsulate’scommercialsectioninDubaireportedacontinualstreamofvisitorsintherun-uptotheexhibitionfromcompanieswantingtodobusinessforthefirsttimewithChina.Morethan4,000Chinesetradersvisitedtheemiratesongovernmentandprivatemissionslastyear.Asaresultofthisactivity,China’sexportstotheUAEhavealmostdoubledfrom$279.5millionin1990to$522.7millionin1992,accordingtoChinesegovernmentstatistics.Dubai’sstatisticsshowthatChinawasthefifthlargestsupplierin1990.
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